» FirstRanker.com

A Firstranker's choice

Question Paper Name :
Subject Name :
Creation Date :
Duration :

Number of Questions :
Total Marks :

Display Marks:

Group Number :
Group Id :

Group Maximum Duration :

Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

www.FirstRanker.com

www.FirstRanker.com

National Testing Agency

Ph D in Geography 4th Oct 202(
Ph.D in Geography

2020-10-04 13:31:33

180

100

100

Yes

Ph.D in Geography

1
92862744

SECTION A RESEARCH METHODOLOGY

Section Id : 928627100
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice

www.FirstRanker.com www.FirstRanker.com
Section Marks : 50
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 928627360
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 9286275528 Question Type : MCQ Option Shuffling : Yes Is Question N
Correct Marks : 1 Wrong Marks : 0

Which of the following is the first step in starting the research process ?

Searching sources of information to locate a problem

Identification of a problem
Survey of related literature

Searching for solutions to the problems
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Action research is

A longitudinal research.

A fact finding research.

www.FirstRanker.com

A research initiated to solve an immediate problem.

A research with socio-economic objectives.
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FTT (Action) Tl T 2 2

U AT A9 3 |

TEATAYT FTHTT 2 |

ATt HHET T THTHTT Fd F {0 AT 2 |

ATHTIST-ATT I I29TT & (o1 T T 9T 2 |

Match the following and choose the correct answer from the options given below :

a. |Descriptive research I. |Generalisation or formulation of theory

b. |Analytical research ii. |Researcher has no control over variables

c. [Fundamental research |iii. |[Related to some abstract ideas or theory

d. |[Conceptual research iv. |[Critical evaluation of the information available
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(a-ii), (b-iv), (c-i), (d-ii)
92862721370.

(a-ii), (b-iv), (cii), (d-i)

(a-ii), (b-i), (i), (d-iv)

et %1 fam fiferm @ §= =70 Tw @ et § & 88t 39 ghT

(AT aEea i [ETETeEner e gt e

o |

|FETeEE SEeTT i, (S U el ® e (A4S0 Al

=T ST iii. [T S A= AT frgidt & @9taa

0

a8

=TT AT iv. [STsE STTAHRTL T ATATAATH T HoA T

(a-iii), (b-i), (c-ii), (d-iv)

(a-ii), (b-iv), (c-i), (d-iii)
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(a-ii), (b-iv), (c-iii), (d-i)

92862721371.

(a-ii), (b-i), (c-iii), (d-iv)

A reasoning where we start with a particular statement and conclude with a universal
statement is called

Deductive reasoning
Inductive reasoning
Abnormal reasoning

Transcendental reasoning
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THT T T2l 29 U (9T a7 | 0% F7d 2 37 U Araeiias 7T & |
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CHEGIR ERGE]

ARTHATHT T

HETHTT T

T (Transcendental) T

Controlled group is a term used in
Survey research
Experimental research

Historical research
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Descriptive research
92862721380.

= 7= & o 7 AT AHE” o=T T 90T gt g 2

A 0T ATHATH

AT AT

Which of following is not true for research methods ?

Methods or techniques used for conducting research
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The logic behind the use of certain methods for research and their relevanc
92862721382,

Techniques for establishing relationship between data and the unknown

Evaluate the accuracy of results obtained

e & 7 -3 ome Frate=y (T2 F o a7 qgic ?

O o THTA o (A0 TLIhRT ATAT THA T T SEdHTA

9TTer = TorT TR T T¥RT T STANT AT I e =T

TET TAT AT o S G TATOT FH o (70 THATHT T STA0

ITH TEOTTAT il TEhAT T oA
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Correct Marks : 1 Wrong Marks : 0

Which of the following research approaches involves the construction of an artificial
environment within which relevant information and data can be generated ?

Inferential Approach
Simulation Approach
Quantitative Approach

Experimental Approach

Feforfad 5 | F19-97 ofre 3EF07 F0" FErEeo & Famr § orfaa g
TS ITE T ST AT ST I (56T ST Jhar g ?

AT FrEFHT
et 3o
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HTATHT 30T

92862721387.

TATRTTcH P07

A good research design should not be

Flexible
Efficient

Complex

Appropriate

T J=, ATEATT [SWIEd &l Mufaiad § 9 FaT qgier ATg0 2

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

92862721389.

T
Sfewd

ERE 1

Read the given statements and choose the correct answer from the options given belo
Statement | :

One characteristic of a good research design is to minimise the influence of extraneou:
variables.

Statement Il :

Extraneous variables are related to the purpose of research.

Statement | and statement Il are correct and statement |l explains stateme
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Statement | and statement Il are correct and statement || does not explain :
92862721394.

Statement | is correct and statement Il is wrong.

Statement | is wrong and statement Il is correct.

et w1 &1 720 i = &0 70 @Fedt § § a7 39 M0
FIT | :

T F= AqA Sz = a2 [@erar 2 & 98 argat 340 & T919 1 3
FLATE |

FaT 1 :

TN FL ATHATH * I29T | HA(&d gl 3 |

FAT | T FAT || LT 2 A FIT || FA7 | FT T FZAT2 |

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

FAT | 37 FA7 || T § i FAT || F99 | 77 T2 T F2a1 2 |

92862721394.

T | HEl g AL FHAT | TATZ |

FAT | AT g AT FAT || F81 2 |

Read the given statements and choose the correct answer from the options given belo
Statement | :

Survey of people who have had a practical experience with the problem to be studied i
experience survey.

Statement Il :

Hypothesis stated by earlier researchers may be reviewed and their usefulness be
evaluated as a basis for further research.

Statement | and statement Il are correct and statement |l explains stateme
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Statement | and statement Il are correct and statement || does not explain :
92862721398.

Statement | is correct and statement Il is wrong.

Statement | is wrong and statement Il is correct.

et w1 &1 720 i = &0 70 @Fedt § § a7 39 M0
FIT | :
FAAT T THEAT F GIATAT SATARTE FAATT ATA AN FT T 2 |

FT I :

T & STt 2T R T P 7 AT A S S
AT, AT o AT T AT T qhel ¢ |

FAT | AT FAT || G g AT FAT || FAT | T FTL FLAam1 2 |
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FAT | AT FAT || Gl g AT FAT || FAT | T 7L Tg1 FLar g |
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FAT | HEl g AT FHAT || TAT 2 |

FAT | T g AT FA || 21 2 |

Which of the following is netincluded in data processing and analysis ?

Tabulation of data

Statistical computations
Selecting the samples

Coding the interview
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e & 7 F1-A7 ST TE @ e oo 7 antea 7gte ?

ST T TUior

T ”

THAT FT =TI

ATATRTE il e

Which of the following is nottrue for descriptive type of research studies ?
Well-thought out instruments for data collection
Rigid design

Pre-planned design
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Non-probability sampling design
92862721408.

fAaferied & & FA9-A7 a0ATcHT T F ATHETT AeqTT * o0 T 7g

?

ST AYE * 00 S=eit 998 § Ar=1 g ST’
37 (Rigid) fewma=

TTTashad? Ifa=a+ (sampling) S5
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Non-probability sampling is also called
a. Haphazard sampling

b. Convenience sampling

c. Complex random sampling

d. Purposive sampling

candd
aandc

a, bandd

c only
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et 7 & g arfaeaas gfa=a+ (Non-probability sampling) €T
FEA & ?

a. ¥ Tia=a+9
b. g&T yia=a+
c. Sfeet AR=a® aia=a+
d. AT=297 wfa=a+
c #¥ d

a3 c

a b#™d

FTA C

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

Methods of collecting primary data does nofinclude

Observation method
Interview method

Research Reports

Questionnaires

et | & FA-H7 TE0R1 TTATHF S27 5 g | ATHA agiamarg ?
FaarEa (ater (Observation method)

areATeRTe =ter
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92862721416.

Which of the following is/are true regarding observation method of data collection ?
a. Respondents actively participate.
b. Subjective bias is eliminated.

c. The information relates to current happenings.

aandb
bandc
aandc

a only
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ST HUZ HT dFrH (observation) f&fe F Ao # fAaforiad § Fra-A1
qag 2/8 ?

a. ST T H{ohd AR AT |

b. AT Ta TATUE FHIH 2T S 2 |

c. FHAT ATHATA | 2T Tl Jearal § Jafga g |
a dT b
bd#™c
advc

T a
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Which of the following is/are true for an empirical research ?

a. It is related to some abstract ideas or theory used by philosophers.
b. It relies on experience and observation.

c. It is like an experimental type of research.

d. In this, the experimenter has control over the variables.
aandb

b, candd

aandd

c only
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FaAaST AT & o, FeforfEa § 7 F-a1a 977 28 2

a. T FTTAFT & T SEAHTA 00 ST ATl Ty, A (A=120 3e Hgidi ?
aetaa g |

b. Tg ATAT A< HAqId 97 [HET FTar g |

c. A TF TARTTHF ATHHTT ¢ |

d. THH TARTERAT 7 F70 97 75 grar 2
ad™b

b, c#Td

a #dwd

FTA C
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Which of the following is nofthe characteristics of a good research ?
Systematic
Logical
Empirical

Non-replicable

Feferfad & F9-97 TF d= oy it 99T qgi e ?
=aTead (Systematic)

GUEED

CIGEIEE]
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92862721428.

Which of the following is notthe measurement of central tendency ?

Mean
Standard deviation
Median

Mode

EteTias | 7 F9-H7 F=17 T9= (central tendency) T AT97 7T 2 ?

H12T (Mean)
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AT A= (Standard deviation)

92862721430.

AqTETHT (Median)

aga+ (Mode)

Which of the following are measures of dispersion ?
a. Variance

b. Skewness

c. Square root of variance

d. Range

aandb

b and d

ol al
=, Canad
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a, bandc
92862721436.

HEteiad 5 & -9 TRLT0 7 917 7g1 2 2
a. Iqr

b. FTET (Skewness)

C. I9Y0T =l C

d. 72T (F7)

b d

a cdd
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a bd#Tc

92862721436.

Match the following and choose the correct answer from the options given below :

a. [Central Tendency Ii. Standard deviation

b. [Relationship Iii. Kurtosis

c. [Dispersion Iiii. Median

d. [Asymmetry Iiv. Coefficient of correlation

(a-iv), (b-iii), (c-ii), (d-i)

(a-iv), (b-iii), (c-i), (d-ii)

(a-iii), (b-iv), (c-ii), (d-i)

(a-iii), (b-iv), (c-i), (d-ii)
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et %1 fam fiferm @ §= =70 Tw @ et § & 88t 39 ghT

a. [T T M CICEREE L
b. [FeaT ii. [FEEdr (FEre)
c. [afyergu iii. [ATT&TRT

d. [fEear VAl GELER RIUIED

(a-iv), (b-iii), (c-ii), (d-i)

(a-iv), (b-iii), (c-i), (d-ii)

(a-iii), (b-iv), (c-ii), (d-i)

(a-iii), (b-iv), (c-i), (d-ii)

Microwave radiation has wavelengths ranging from
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02862721441, O 7 t0 3mm

0-3to 300 cm
0-7 to 300 mm

3to 14 mm

qrewEa AT i F3a=] &1 92 (39) FI7 ¢ 2

0-7 & 3 fHeAtHTEx
0-3 & 300 HETHET
0-7 & 300 fHeTHET

3 7 14 fHefex
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Correct Marks : 1 Wrong Marks : 0

Match the following and choose the correct answer from the options given below :

a. |Positive Skewness

Belt shaped curve

b. [Negative Skewness

Curve distorted towards right

c. [No Skewness

Curve distorted towards left

(a-ii), (b-iii), (c-i)

(a-iii), (b-ii), (c-i)

(a-i), (b-ii), (c-iii)

(a-ii), (b-i), (c-iii)
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et %1 fam fiferm @ §= =70 Tw @ et § & 88t 39 ghT

A GEAR R BT =] i. [FEF F AHTE FTTE

b. |FeRTEreH= JueT ii. [STEAT fFom & =47 gar (=) 7
c.[FTE U= T2l iii. [afY fRom & g7 ger (Ra) &

(a-ii), (b-iii), (c-i)

(a-iii), (b-ii), (c-i)

(a-i), (b-ii), (c-iii)

(a-ii), (b-i), (c-iii)
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Match the following and choose the correct answer from the options given below :

a. |Spatial Resolution Ii. IDiscrimination by wavelengths
b. |[Temporal Resolution Iii. IDiscriminatian by time

c. |Spectral Resolution Iiii. IDiscrimination by energy levels
d. [Radiometric Resolution Iiu. IDiscriminatic-n by distance

(a-iv), (b-ii), (c-i), (d-ii)

(a-iv), (b-ii), (cii), (d-i)

(a-ii), (b-iv), (cii), (d-i)

(a-ii), (b-iv), (c-i), (d-iii)
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et %1 fam fiferm @ §= =70 Tw @ et § & 88t 39 ghT

a. [Pt =rear i. (@A g fAeEd
NN GIEIPED EZ G ii. [FET EET e
c. [Tt T AT iii. [SoTT T2 e AHEe
d. [FeaTadE Trear iv. [T T A

(a-iv), (b-ii), (c-i), (d-iii)

(a-iv), (b-ii), (c-iii), (d-i)

(a-ii), (b-iv), (cHiii), (d-i)

(@-ii), (b-iv), (c-i), (d-iii)

What is the full form of AVIRIS ?
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Airborne Vehicle Radiation Imaging Service
92862721453.
Airborne Visible Infrared Radiation Imaging Spectrometer

Airborne Visible Infrared Imaging Spectrometer

Airborne Vehicle Residual Imaging Spectrometer

7 AT TS 3T TS TH. (AVIRIS) FT 07 T96T FIT S ?
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Question Number : 25 Question Id : 9286275552 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

What is the repetitive coverage of IRS-1C satellite ?
18 days
24 days
26 days

16 days

e A.0A. (IRS) 1C TUUZ FT AT S T2 il JATT FAT E ?

18 T

24 T2
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92862721459.

16 T

In which year was Landsat 7 launched ?

2002
1989
1992

1999

dede-7 B au § wertug BT war 9T 2

2002

www.FirstRanker.com
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1989
92862721462,

1992

1999

Which of the following is nottrue for raster data format ?
Generalises the scene as grid of cells.
Each cell or pixel denotes a feature type.
Uses points and their x, y coordinates.

It is often called image data.
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Aot & | F1F-A7 WL €271 IET F o0 a7 7gi e ?

397 T FIAHTAT F TH RIS F T F ATHEFHT F747 ¢ |

Ted HITITET AT T (pixel) TH AT HT F9MAT S |

7g favgar siw 3 x, y M9l (coordinates) FT ITANRT Fd

o 9 5 (38) ST g

Match the following and choose the correct answer from the options given below :

a. [Polygons . |Streams
b. |Arcs ii. |Land parcels
c. [Points ii. [Trees

(a-iii), (b-i), (c-ii)
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(a-ii), (b-i), (c-iii)
92862721470.

(a-ii), (bHiii), (c-i)

(a-i), (b-ii), (c-iii)

et 71 fHam Fifsrm J 1= =70 10 @ et § 7 |31 39 0

a. [T 110 (Streams)
b. [FTT (3mF) ii. |9f 9 (@)
c. |fFg iii. [T

(a-iii), (b-i), (c-ii)

(a-ii), (b-i), (c-iii)

(a-ii), (b-iii), (c-i)

www.FirstRanker.com




:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

(a-i), (b-ii), (c-iii)

92862721472.

Which of the following terms are used for projections depicting the true shape of a maf
area ?

a. Azimuthal
b. Conformal
c. Orthomorphic

d. Homolographic
a only

bandd
aandb

bandc

www.FirstRanker.com
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Question Number : 29 Question Id : 9286275556 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

& HIAT= A3 & AT A% ATHRIT I 90T AT TAT & (7 FAterrad o
o ors=t T T AT STar g 2

a. 9[5 3 (f33791) (Azimuthal)

b. FAFHT (ATET TAT)

c. ATTTHI (TATHdH T&T)
d. SETARITI (THE T4)
FAD a
b T d
ad7b

b~ c
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Question Number : 30 Question Id : 9286275557 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

The map which shows a small area in greater detail is called
Small scale map
Large scale map
Full scape map

Small scape map

T T T FAT Figd @ S Gid T & Hi1 fAeqd AT 3q1 2 2

e HTOHT T HIA =

TET HTTAT FT A=
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qEQOT TRT A=A

92862721479.

T T A=

Which among the following is a Satellite Navigation System for China ?

GPS
BeiDou
GLONASS

Galileo

et 5 & FI9-97 =19 1 ITAG ATET90T T0TeAT g 2
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St fY.7e. (GPS)

92862721481.

T2e13 (BeiDou)
ST U 7. 09707 . 0. (GLONASS)

KK

Which of the following is nottrue for a “hypothesis™ ?
It is a predictive statement.

A formal statement which the researcher intends to test.

Is broader in scope.

Can be objectively verified.
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Question Number : 32 Question Id : 9286275559 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

Meferad | & Tiehoadr % {0 FF-a1 94 Jgl ¢ ?

g T IHhT (predictive) FI9 2 |
T STT= T FAe o e | e F7d71 3 |
T AT ATIF g |

feower JegTiua gr J%hd 2 |
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Arrange the following in the correct sequence for testing a hypothesis :
a. Selecting random samples

b. Selecting a significance level

c. Calculation of probability and comparing

d. Making a formal statement
b-a-c-d
d-a-b-c
a-c-b-d

d-b-a-c

www.FirstRanker.com
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TiERed T & T % o eteriaa it a8t e 7 sFatedd i
a. AT3=g® Tfa=el 1 I

b. ATTHAT TA7 (significance level) 7T 99
c. ITTIAT (Probability) 3T 0T AT ToA+T

d. T =T FIT a9=T
b-a-c-d
d-a-b-c
a-c-b-d

d-b-a-c

Which of the following is nottrue for IRNSS ?
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Options :

It covers India and a region extending 2500 km around it.
92862721493,

lts operational name is NAVIC.

Has a constellation of 7 satellites.

lts orbital height is 36,000 km.

Referad o I FF-97 3. 7. 979,79, (IRNSS) & forT aer

TZ AT ST T AT A7 2500 e ii=s &= &t et

ST 9reATa At8 NAVIC 21

g 979 SUUE! & 9HE ¢ |

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

T HEATT AT 36,000 ez 2 |

92862721496.

Which of the following is not used for factor analysis ?

Centroid method

The principal component method

The maximum likelihood method

Canonical method

fAaforiaa & & F9-A7 F15F (IUTS) =EU (factor analysis) § 37A1
TgT e ?

Frzd T4t (Centroid method)
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92862721498.

Atersag gqrr=aqar =t

faf2d (Canonical ) fater

Which of the following does nof come under plagiarism ?
To commit literary theft.
To use others' work after giving credit o the source.
To steal and pass off as own work.

To present as new and original an idea/product derived from an e»

www.FirstRanker.com
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Question Number : 36 Question Id : 9286275563 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

fRafertaT ® T Fia-ar argfeas =0 & i agiaars ?
HTig (o= o &l AT HAT |

T F FTH FT ITANT &G FT AT 9 F q72 F7A7 |

FT % AT HTH =l 97g T FeAT |

et SIS &1 & 91T gr [==1e a7 3972 =7 T A7 g1

T LAl |

Which of the following is nottrue for CC BY — NC - ND license ?

Attribution is a must.

Commercial use is allowed.

www.FirstRanker.com
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92862721507, Cannot distribute after transformation.

Can redistribute following the license terms.

Fraferfr & & F9-8T CC BY — NC — ND areerer ¥ frm a2t agr2 2

UTTET0T ATTATTIT £ |

ATOTTST = ITART T ATHT 2 |

QT2 o 972 fAdied 981 < Tohd |

ATEHE A1 AT A g AR A2 HT T @ |
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Which of the following are research ethics a researcher should follow ?
a. Obtain informed consent from all involved in study.

b. Avoid any risk of harming people, environment etc.

c. Use other people, work without due credit.

d. Offer big rewards to people involved in the study.

candd
aandb
aandc

aandd

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

oTTer Afrahar & oIy ofterat =t Mfortea 7 & feg a1ad #24T F11e0 2
a. AT H ATTH THT AWT T TZHATT TTH FeAT |

b. AT, T (S Fl THATT & @A o FTATT |

C. F=T SATRAT & FTH Fl faA7 97 F0 ITT07 F247 |

d. STETTT | ITTHA AN o TorT 2T [EEehTe =47 |

c AT d
a#diThb
a #d* c

a 7 d
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Which of the following options are the weaknesses of questionnaire method of data
collection ?

a. Low rate of return of duly filled questionnaires.
b. One of the fastest methods.
c. Researcher has no control over the questionnaire once it is sent.

d. Some questions can be unanswered altogether by the respondents.

bandc
aandc

b only

a, candd

www.FirstRanker.com
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FeteriaT 7 F FrA-7 =T €21 T3 FT 7=l =ier it wteat g 2

a. TUT =7 F I g TATIAT Al ATTHT T2 FHT FH g7 |
b. T ofter T3 & T UF |

C. U FqTT TATAAT AST ST 6 TAT ATFHAT T TATAAT TT Fil =07 |
grarg |

d. STEITATAN T T TF T T F AT gl TFd @ |
b 37 c
ad7c
FAT b

a cd™d

www.FirstRanker.com
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Read the following statements and choose the correct answer from the options given
below:

Statement | :

Questionnaire method of data collection is cheaper than schedules.

Statement Il :

In questionnaire method money is only spent on Enumerators who collect information f
the respondents.

Statement | and statement Il are correct and statement |l explains stateme
Statement | and statement Il are correct and statement || does not explain :
Statement | is correct and statement Il is wrong.

Statement | is wrong and statement Il is correct.

www.FirstRanker.com
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fratortaT Faai 1 720 & q= 73w 70 Fweat § 7 78 597 g0
FT |
ST HUE T TATAAT (A8 A=A AT AT H qedm 2 |

FAT I :

AT AT 7 45 FFer W0l 97 @ i ¢ S SALaTaral o STaahtey
T F2d 2 |

FAT | AT FAT || FET g AT FIT || FIT | T L FATZ |
FAT | ST FAT || G5l g A FI9 || FAT | T T g1 F2a1 g |
FAT | FEl g AT FHAT | TAT 2 |

FAT | AT g AT FAT | F51 2 |
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Correct Marks : 1 Wrong Marks : 0

Who among the following used "case study method" to study juvenile delinquency ?
Frédéric Le Play
Herbert Spencer
William Healy

Odum

TeforeT § O foha aTer 79Ty 97 720 o o oy o7 |
TR Tt T ?

e @t = (Frédéric Le Play)

gd< a7 (Herbert Spencer)
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fateram @< (William Healy)

92862721523.

#red (Odum)

Which of the following is not a characteristic of a “Case study” ?
One single unit is selected for study
Study is done intensively
Mutual relationship of causal factors is studied

Quantitative approach of study

e o & H1A-A1 6 eaa+” i fFwdr g e ?
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FLTTT F T Ut THTe T T4
92862721525.

TETTE & ALTAT FHeeAT

FTLOTTH HT2al (causal factors) & TTRETTE Tl FT FLTAT

HIATCH FTOHI0T F AT FHieedl

What are the reasons for reviewing literature in a research work ?
a. Get ideas from other researcher’'s work in a particular area.

b. Learn about research and their applications.

c. Look at other peoples' work without a critical approach.

d. To spot areas which have not been researched.

a, bandd

www.FirstRanker.com
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c only
92862721530.

aandc

bandc

STTEr T H AR T 3l AHTEAT Fited o 4T HT 2 g ?
a. T 3T o | oo arvarwarat & F=T i AT AT |

b. 9Tl & TE=1 3T I ATIARN 6 [BFoT | AT |

C. AMATAATHT DI & [oAT ST AN & FHTF ol <7 |
d. I &A1 T @1 199 92 =7 (a7e) el A wav g |

a bd#Td

FTAT C
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adivc

92862721531.

b ™ c

Arrange the following words starting from broader to specific area of research :

a. Traffic congestion
b. Transport geography

c. Volume of vehicular traffic

www.FirstRanker.com
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Correct Marks : 1 Wrong Marks : 0

e =i FT Mg F AT A g BT ac a5 #9 5
AT HIo0

a. AT FFadr
c. ATEAT  ATATHT (ATATATT) FT ATAT

a-c-b
b-a-c
c-a-b
b-c-a

www.FirstRanker.com
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Match the following and choose the correct answer from the options given below :

Univariate Analysis

2 Variables of which one is time

il

Time series Analysis

ii. |Linear geographical features

L

Network Analysis

iii. [One variable

Multivariate Analysis

iv.|Methods applicable to any number of variables

(a-i), (bHiii), (c-ii), (d-iv)

(a-i), (b-iii), (c-iv), (d-ii)

(a-iii), (b-i), (c-ii), (d-iv)

(a-iii), (b-i), (c-iv), (d-ii)
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et %1 fam fiferm @ §= =70 Tw @ et § & 88t 39 ghT

a. [THFEA=TEgET  |i. [STEUHE U IEHIE

b. [@Ter Aot Fgwor i, [FFEE 9t st

c. [Feas Egmr ii. [TH AT

d. |[ag= fEgm iv. [T T S F =9 9T 9 9w

(a-i), (b-iii), (c-ii), (d-iv)

(a-i), (b-iii), (c-iv), (d-ii)

(a-iii), (b-i), (c-ii), (d-iv)

(a-iii), (b-i), (c-iv), (d-ii)

Which of the following is nottrue for qualitative method of research ?

www.FirstRanker.com
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Rejection of Natural sciences
92862721541.
Deductive approaches

Search for meaning

Idealistic perspective

et & 7 F1-Ar1 o o &1 % o 7o Jgie ?

Tt =TT T el
IGREIDEAC LI
ERIEN RG]

grzoarsT gf e

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

Question Number : 47 Question Id : 9286275574 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

Which of the following is notthe problem related to sexism in research ?
Gynocentricity
Over generalisation
Quantitative techniques

Double standards

e | & -3 90 § {REne § Jiaq aH7eAT Jg) ¢ ?
U ECIGEA LA

ATers TTHT T

www.FirstRanker.com
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HTTHTF THA15
92862721547.
e b
I‘é{ G ED

A group of six to ten people sitting and discussing an issue identified by a researcher i

An experimental group

Respondents

A Focus group

Electoral group

6 - 10 T T G ST ATEFAl ZIT TgATe g I% FA1 & [0 95 gf, 77
FgId 7 2
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Options :

U= TANTH S 9493
92862721549.

SHLETAT
RERIE T KL

I/ Aa=T (Electoral ) T8

Which of the following is not a strategy for maximising response rates in questionnaire

survey ?

Ensure the questionnaire reaches the targeted respondents

Questionnaire is elaborate

Follow up action to those who have not responded

www.FirstRanker.com
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Get the respondents familiar with the research topic
92862721556.

freterad o o FA-A7 STl T2 § TIIRAT 220 (response rates) |
FETH T T Agi e ?

T ITLRTATaA %6 TATAAL 0l Tg= GA1d FedAr

TATAAT T T g
S @Tt 7 397 A2l 34T, 39 97 sqadt #raargs (follow up a

SALETITA &1 9y AT o ofRf=a FA7
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Read the following statements and choose the correct answer from the options given k

Statement | :
Quantitative data arises from closed questionnaires.
Statement If :

Questions that involve counts can be coded numerically and analysed.
Statement | and statement Il are correct and statement |l explains stateme
Statement | and statement Il are correct and statement || does not explain :
Statement | is correct and statement Il is wrong.

Statement | is wrong and statement Il is correct.
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fratortaT Faai 1 720 & q= 73w 70 Fweat § 7 78 597 g0

FAT | :

o= AT (closed questionnaires) I ATATTHS 2T IcT 21T ¢ |

FAT I :

o W TS ot o 2, Ive HeATe ® =9 | Flfed AT ST TFAT 2
IRt Terguor & ST |J=har 2

FAT | AT FAT || FET g AT FIT || FIT | T L FATZ |
FAT | ST FAT || G5l g A FI9 || FAT | T T g1 F2a1 g |
FAT | FEl g AT FHAT | TAT 2 |

FAT | AT g AT FAT | F51 2 |

www.FirstRanker.com
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SECTION B GEOGRAPHY

Section Id : 928627101
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50

Section Marks : 50

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 928627361
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 9286275578 Question Type : MCQ Option Shuffling : Yes Is Question
: 1 Wrong Marks : 0

Correct Marks

According to Patterson, the vertical layers of the atmosphere in the increasing order of

distance from the earth’s surface is as follows :

Troposphere — Stratosphere — lonosphere — Ozonosphere — Exosphere

Troposphere — Stratosphere — Ozonosphere — lonosphere — Exosphere

Troposphere — lonosphere — Stratosphere — Ozonosphere — Exosphere

Troposphere — Ozonosphere — Stratosphere — lonosphere — Exosphere

www.FirstRanker.com
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Question Number : 51 Question Id : 9286275578 Question Type : MCQ Option Shuffling : Yes Is Question

Correct Marks : 1 Wrong Marks : 0

U7 & FGATE, THAT 7 Tag ¥ TgaT g2 L1 T2 ATTHAESA H1 S2ard< a3

TEAAAE
ATHHEA — AHATTHSA — AATHESA — ASAAHEA — ATZHSA
ATTHST — AHATTHEA — ASAHEA — HATHET — A(gHEA
ATTHST — AATHEA — TAATTHSA — ASAAHSA — ATgHEA

ATTHTT — ASTHST — THATTHSA — APTAHEA — ATgHeA

www.FirstRanker.com
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Match the following and choose the correct answer from the options given below :

a.IFoehn Ii. Guinea Coast
b.|Harmattan Iii. Northern Slopes of Alps
c.|Sirocco Iiii. Sahara Desert
d.|Mistral Iiv. Southern slopes of Alps

(a-ii), (b-i), (cAiii), (d-iv)

(a-i), (b-iii), (c-iv), (d-ii)

(a-ii), (b-i), (c-iv), (d-iii)

(a-i), (b-ii), (c-iv), (d-iii)

www.FirstRanker.com
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et %1 fam fiferm @ §= =70 Tw @ et § & 88t 39 ghT

a. [ i [TTEET FEE

b. [@¥HgA TH L k2 O R EA R K
c. |HIZi=HT i, [EETT TR

d. |[Fea iv. |Ooae iy Zeri gt

(a-ii), (b-i), (c-iii), (d-iv)

(a-i), (b-iii), (c-iv), (d-ii)

(a-ii), (b-i), (c-iv), (d-iii)

(a-i), (b-ii), (c-iv), (d-iii)

www.FirstRanker.com
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Read the following statements and choose the correct answer from the options given k

Statement | :
During adiabatic warming and cooling of air, it does not lose or gain heat.
Statement If :

Pressure changes with altitude are associated with heating and cooling of air
Statement | and statement Il are correct and statement |l explains stateme
Statement | and statement Il are correct and statement || does not explain :
Statement | is correct and statement Il is wrong.

Statement | is wrong and statement Il is correct.
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fratortaT Faai 1 720 & q= 73w 70 Fweat § 7 78 597 g0
FAT ] :

AT Fl TGO B9 F TTH FTAT 32T 219 % 1209 a19 0l &1 J1 Jheg T30
& ]

T I :

T F TLH T ST ZI FT FHILOT F2AAT SATRAT T HATAT ATLHSATT I
T AT 2 T g |

FAT | AT FAT || FET g AT FIT || FIT | T L FATZ |
FAT | ST FAT || G5l g A FI9 || FAT | T T g1 F2a1 g |
FAT | FEl g AT FHAT | TAT 2 |

FAT | AT g AT FAT | F51 2 |
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Question Number : 54 Question Id : 9286275581 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

Select the correct answer by arranging the lakes in the decreasing order of their areas.
Lake Victoria — Lake Michigan — Lake Huron — Lake Tanganyika
Lake Victoria — Lake Tanganyika — Lake Huron - Lake Michigan
Lake Victoria — Lake Huron — Lake Michigan — Lake Tanganyika

Lake Victoria — Lake Huron — Lake Tanganyika — Lake Michigan

e STl 1 I ATl 6 Hed gu HhH § oRehT Jal 39 110
At e — e e — = e — &rri|eT e

R fer — T et — S T — FrReT 2
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T #er — =W #Hier — [fane #Her — &rrieeer He

92862721575.

T Siier — I et — 9Tt i — e #Hie

High tides are nof resulted during
Conjunction
Syzygy
Opposition

Quadrature

-1 frfd | 3 vaTe 3cue agiarare ?

www.FirstRanker.com
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92862721577.

G IC]

Which of the following ports get affected by the North Atlantic drift ?
a. Hammerfest

b. Murmansk

c. Goteborg

d. Mexico city

aand d

a,—b—and C

www.FirstRanker.com
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92862721583. bianc.d

d only

afofad # ¥ F-5 §237Tg 30 dAediien g1l & TAT AT gid g 2
a. gHTHE

b. TTHT=

c. et

a 7 d

a b3
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b d
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T d

Geosynclinal Orogen theory was given by

Weber
Kober
W.M. Davis

Holmes

www.FirstRanker.com
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92862721586.

:I-QI (223

Match the following and choose the correct answer from the options given below :

a. |Anticlines i. |Single bend
b. |Synclines ii. |Upfold
c. [Monoclines iii. |Downfold
(a-iii), (b-i), (c-ii)
(a-i), (b-ii), (c-iii)
(a-i), (b-iii), (c-ii)

www.FirstRanker.com
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(a-ii), (b-iii), (c-i)
92862721592.

Tt &1 Her e AT Jr= 70 10 f&FFedt § 7 Jg1 39 0

a. |[A99q I. [OheT S
b. [a#frma i [szfoa
c. |o&HAa iii.[rgTaterT

(a-iii), (b-i), (c-ii)

(a-i), (b-ii), (c-iii)

(a-i), (b-iii), (c-ii)

(a-ii), (b-iii), (c-i)

www.FirstRanker.com
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Correct Marks : 1 Wrong Marks : 0

Oxbow lakes are

Fluvial landforms
Glacial landforms
Karst landforms

Aeolian landforms

AT S[ATHIE §
A= arid §

HTEE ATF &

www.FirstRanker.com

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice )
www.FirstRanker.com

ATLE AFHE 7

92862721596.

Which of the following is/are not true ?
a. P waves are longitudinal waves.

b. S waves are longitudinal waves.

c. P waves are transverse waves.

d. L waves do not travel to the interior of earth.
bandc

a only

aandd

d only

www.FirstRanker.com
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Correct Marks : 1 Wrong Marks : 0

Rrferfr & & Fe-a/d aer 7t 38 2

a. P (STIfH®) 9397 SAqa=T 990 ¢ |

b. S (fGdta=) T3 sIa=4 T3 ¢ |

c. P T3 U= 37 2 |

d. L (Faar) a3 AT & SAfqid G0 § dgi orav @ |
b #T ¢
FAT a

a 7 d

T d
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Which of the following terms is prominently associated with Davisian cycle of erosion ?

Mesa
Monadnocks
Drumlin

Endrumpf

TafeTiad o | FH-A7 953 §&T 9 H 199 F JqL= 9% 9 dei4d g ?
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I:!_ "'uE IEIS
i

92862721604.

Match the following and choose the correct answer from the options given below :

a. |Warm front I. Warm air completely lifted from the ground
b. [Cold front il. Steep slope

c. |Occluded front il. Parallel air masses

d. |Stationary front iv. |Gentle slope

(a-i), (b-ii), (c-iv), (d-iii)

(a-iv), (b-ii), (c-i), (d-iii)

(a-iv), (b-iii), (c-i), (d-ii)

(a-iv), (b-i), (c-ii), (d-ii)
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et %1 fam fiferm @ §= =70 Tw @ et § & 88t 39 ghT

a. [Iour ATaT i, [SSUT AT T Ad9g T T 97g 357
b. |¢ftT aTEwr ii. [@ETET

c. |@At&aTa (Occluded) AT iii. [FHATAIGE AT Hafd

d. |®I7 (Stationary) FTETT iv. [H3F 2T

(a-i), (b-ii), (c-iv), (d-iii)

(a-iv), (b-ii), (c-i), (d-iii)

(a-iv), (b-iii), (c-i), (d-ii)

(a-iv), (b-i), (c-ii), (d-iii)
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The boundary between Aw and Am climates of Koeppen is demarcated on the basis of
annual precipitation (R) and precipitation of the driest month (a). Which of the following
formula for above is correct ?

|=a=1c:1-2—ﬁ'5
El=10—2;R5
a=R—%
R=25-—

FUT % Aw 3T Am STAATT & &= I HET & S0 s 907 (R) 3
SIS AT HTg & 9 (a) % AT 9% & 17 2 | g8 forg sfortad 7 3
-8 A AT 2

www.FirstRanker.com
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R

a= 1U—E

_ 10

a=R=%sg

a
R=25--

Who has written the book tiled ‘Kitab-al-Ausat’ ?

Al-Biruni

Inb-Hawgqal

Al-Idrisi

Al-Masudi

www.FirstRanker.com

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

Question Number : 64 Question Id : 9286275591 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

‘TohaTa-ST- AT qTHE [oae (o el g ?

ga-fa=+T (Al-Biruni)

24 g4 (Ibn-Hawqal)

ga-g= AT (Al-Idrisi)

Fa-Aar (Al-Masudi)

Who divided geography into general geography and special geography ?

Varenius
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92862721618. Bant

Humboldt

Semple

ST FT AT T S T e § fre freim B d 2

FHfae (Varenius)
FTe (Kant)
gHITee (Humboldt)

T+ (Semple)
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Who among the following is nota deterministic geographer ?

Ratzel

Huntington

Bruhnes

Ritter

Feferfad & & F == @aaar 7@t e ?
@ (Ratzel)
gfedred (Huntington)

a4 (Bruhnes)
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=7 (Ritter)

92862721624.

Read the following statements and choose the correct answer from the options given b

Statement | :
Constructive plate margins are also called diverging plate margins.
Statement If :

The two plates slide past one another along diverging plate margins.
Statement | and statement Il are correct and statement |l explains stateme
Statement | and statement Il are correct and statement |l does not explain .
Statement | is correct and statement Il is wrong.

Statement | is wrong and statement Il is correct.
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Question Number : 67 Question Id : 9286275594 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

faferfaa waei #r 7f2u o A= 5w 7w fEwedt § 9 987 397 g0

FAT |

TR TS HTHTAT 0 AT oo Hae off Fga 2 |

F4ed Il :

TN FTATLN Tole TH-ZAL & T (A9 Hizal g |
FAT | AT FAT || Tgl g AT FIT || FAT | 7 TL F74q1 2 |
FAT | AT FAT || G5l AT FIT || FAT | T T T Fear g |
FAT | AEl g AT FHAT | TATE |

FAT | TAT g AT FA || 21 2 |
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Question Number : 68 Question Id : 9286275595 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

Which of the following is not an example of an active volcano ?

Stromboli
Pinatubo
Etna

Vesuvius

e | & FIA-A7 TiehT SaTar @l =T S0 dgl g ?
AL EIE
foTZaT (Pinatubo)

TZqT (Etna)
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92862721632.

Which one of the following groups is produced only by erosion ?
Drumlins, Fjords, Arete
Cirque, V-shaped Valleys, Levee
Esker, Outwash plain, Moraines

Swallow holes, Deflation basins, Wave-cut platform

Hefeiaa § § FI9-97 9498 Fida A97a g1 [HiEq grarg ?

g, TR, 9787 F2F (Arete)
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T, \/-ATRTE T =JTET, o490

92862721634.

uEET, ARG #21, 2912 (Moraines)

2@ 7¢r (Swallow holes), ATATZT FIMT, T FTfad AT

Which of the following is a warn ocean current ?

West wind drift

Agulhas current
Benguela current

Canary current
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Faforfag § & FI9-81 TF 79 HgERE T g7 g ?
afer T 7a9 FaTg (West wind drift)

T[T TR

AT &TeT

Which of the following statements is npof true about world population facts (United Natic
Population data) ?

In October 2011, global population was estimated to be 7 billion.

61% of the global population lives in Asia.

Tl =
A= =
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China’s population is projected to increase by 31-4 million between 2019 to
92862721644,

o e o F A | FeitET § 7 9-97 FU9 a7 gl e ?

(B9 : H<h 1Y STAEEIT S27)

FFea? 2011 | S STAEEar 7 A9 ARt T8 A7 |
AT SE=AT 61% TIAATH TZar 2 |

SU-HEIT ST (Sub-Saharan Africa) il S=TH®AT 2050 T
HHATT B |

HI T STEEaT 2019 T 2050 F F1= 31-4 AT a&@7 #7199
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Who proposed the theory of the Inverse Distance Law ?

Ravenstein
Zipf
Zelinskey

Stouffer

gtqerd 247 fZiT (Inverse Distance Law) & seqriad a1 g ?
a9+ 9 (Ravenstein)
e (Zipf)

SrTeTeaht
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92862721648.

What is meant by Fertility Ratio ?
Child (0 — 4 years) per woman (15 — 49 years) ratio
Number of live births per woman
Number of live births per thousand women in a year

Number of total births per woman

TSI ST | FT ATHATT 2 ?

sfer AZaT (15 — 49 =) farey (0 — 4 &) F7 I
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gta Afgar sfifaa st it Jear
92862721650.

T A4 | GTd A AigATAl 9% S d SAeAl il T

Tt AIZAT T ST T FHeeaT

Which of the following is not a glacio-fluvial depositional feature ?

Drumlin
Horn
Esker

Kame
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e o o s-ar Buseis FHeaT a8z 2
gaferE

&

|

If Kyoto protocol is for reducing greenhouse gas emissions, then Montreal Protocol is
regarding

Ozone layer depletion

Persistent organic pollutants
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Environmental governance
92862721659.

Sustainable development

TFZ FATET T2 F AT I ISl FH Feel F G4 g, a7 ql1g
TTErhieT (hee Ja e g ?

AT 92T g
CEERGESICENERET

TTEL0T AT

aaq ==

Which-of the follewing-bavs has the-highest tide .4 42
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Options :
Bay of Bengal
92862721661.
Bay of Fundy
Hudson Bay
Bay of Biscay

efofaT & & B 5 & a1t F o a1er s i S31 Gaiia® ol ¢

ST T FTST
FUST T GTST
2SO @Il

feren =it @ret
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Question Number : 77 Question Id : 9286275604 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

Which of the following are the causes of temperature inversion ? Choose the correct
answer from the options given below :

a. Cloudless and clear sky
b. Presence of moist air near the surface
c. Long winter nights

d. Fast movement of air
aandd
aandc
candd

b only
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fraferiaT | | -5 FHTI07 919 SHHAI FT IcaH Fied g 2 90 (#3070
et § | agl 39 M0

a. T3 Tigd aTF AT
b. a0 F UTH 79 a1 il IqTeATd
c. AT FT &t T
d. aT i qrA T
a A7 d
advc
c#dTd

FTA b
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Who considered the Sea as a “Great Highway” ?

A.T. Mahan
Mackinder

Spykman

Haushofer

effeaT 5 & fFae aee &t “9gEnrT /4T g 2
T 1. 929 (A.T. Mahan)
#AfFre7 (Mackinder)

TITSFHT (Spykman)
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gT9THT (Haushofer)

92862721672.

Who among the following stated that “Environment taken by itself is a meaningless phr
without man environment does not exist” ?

Hartshorne

Berry

Febvre

Spate

e Tead § o e FgT T “Oaiaeor o9+ o7 § 99219 g, T°
TATELT T Tl ATeded dal” ?
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graer (Hartshorne)

92862721673.

<1 (Berry)
s (Febvre)

U= (Spate)

One of the main criticism of positivism is
Empiricism
Anti-idealism

Anti-authoritarian

Unity of science
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Question Number : 80 Question Id : 9286275607 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

fafertad § ¥ 19 Toaeqa1s il §eT A =T § F U g ?

ATHATATT (Empiricism)
ATEITATE-A7TT (Anti-idealism)
AATATRI-TA24T (Anti-authoritarian)

fasT= 1 UHAT (Unity of science)

Which of the following is nof a theme of Humanistic geography as propounded by Tuar

Geographical knowledge
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Crowding and Privacy
92862721682.

Health and Sanitation

Territory and Place

feferiaa § & F19-97 gA9 (Tuan) ST IaqTad Eaararal G
oo 7gte ?

S IEEER I

g T MOFTI4T (Crowding and Privacy)

AT U T =1

TTeqe= Ud 419 (Territory and Place)
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Question Number : 82 Question Id : 9286275609 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

A composite profile shows
all profiles of the series of profile on a single frame.
only the ruggedness of the skyline.

an area of comparative higher abolute relief which are not obscured by higl
forms.

A number of parallel profiles.

uF o aR =g R (composite profile) T Z9rTdT g ?
T B 6 UT =g et gt fit adt uh=giEead |

Faar farfas (skyline) FT s&HaT
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= &3 ST A TcH= 9 7 Iga< [Huer Igrag a7 g AT S 0
T 3 IETAA ATAT AT AT F &6 T2l 2 |

92862721687.

Fg THTATTT U= ST |

The slope which has closely spaced contours towards the ground and widely spaced
contours at greater height is a

Convex slope
Uniform slope
Concave slope

Undulating slope
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et a7t Forerit wrrE s e g YT A o O 20 £ o et
o g YTt afie T 0T S E

S KR E

UandHIA @l

Addd gl

TEET BT

The righmost bottom corner of a climograph represents

Keen condition

Muggy condition

Scorching condition
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02862721606, R@W condition

FATZHRITE FT T TAT W=7 HIAT F97 TAaT ¢ 2

F517 (Keen) foafa

oA (IH9ETT) (Muggy) Eaia
1% (Scorching) f&afa

#IF (Raw) fufa

An aggregate line graph is also known as

Band graph
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Bar diagram
92862721698.

Block diagram

Ring diagram

YT ITF & AT (aggregate) &l T Fgd ¢ ?
9T T
ZT v (Bar diagram)
Al AE

T s
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Isochronic Cartograms represent
Volume of vehicular traffic at a particular time interval on different roads
Speed of travel from the centre in all directions at a particular time interval.
Length of all roads emanating from a central place

Total road network in a given area

AT HIEQTH (ATF10E) FI7 39000 3 2

U (0T 6T T 9T AT 92l 9% A1gAi & AT i

et 39T |97 sia<re ux Feg 9 Ot Remst F = it i

T Fe T T T Fae areft adt agwt fir J9re
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=T o 1T &= | | FT T ST (network)

92862721704.

Which among the following are the features of Brazilian type population resource regio
Ackerman ?

a. Low population per resource ratio.
b. Technology deficient areas.
c. Resources cannot sustain an increase in population.

d. High population per resource ratio.

aandb
bandc
cand d

a, band d
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Question Number : 87 Question Id : 9286275614 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

aforfas o & Fi-7 F O TFeaT F AT o Te Ih +
SAEEAT-HATET A5 § AT g ?

a. FH STAHEAT Tid HATET Fqa0T |
b. AT=ITRIHT il FHT AT & |

C. STEEAT gl T AT 97 dAA[ 917 |

d. IF SHEEAT Iid FATET AT |

a#d™hb
b #7 ¢
c AT d

a b#™d
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Question Number : 88 Question Id : 9286275615 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

If the value of Y in Nearest Neighbourhood Analysis of settlements is greater than 1, th
is an example of

Clustered settlement
Uniform settlement
Scattered settlement

Random settlement

s ST % [Here Tiaaeit FEgwor §Y &7 9 1 7 Jiers g, 91 78 =it
H ¥ et 328 g ?

A2 d (Clustered) =it

TFAHTT (Uniform) s&dt
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THIT (Scattered ) TEAT

92862721711.

T3~z (Random) &1

Which type of settlement is generally found in the flood prone areas ?
Wet point settlement
Dry point settlement
Strong point settlement

Weak point settlement

o ST T FfEaat ATETEuTaAT A Y A H Gl At g ?

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

TA-ITUT FET
92862721713.

YT ¥ 9541 (Strong point settlement)

gae fag aal (Weak point settiement)

The K = 7 hierarchy of settlements denotes
Marketing Principles of Christaller
Administrative Principles of Evans
Marketing Principles of Clark

Administrative Principles Christaller
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Question Number : 90 Question Id : 9286275617 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

K = 7 af¥aat T IS 47 == FLdam g ?

et 1 fA9oe g1 (Marketing Principles)
AT FT F9mHF HZTT (Administrative Principles)

FATH 71 FAgoe g

ELARREI R FUGIGER L P

The geographical factors that favour federalism are
a. Even shape
b. Diverse group of population

c. Small area

—d—Presenceof severatcoreareas
www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

Options :

92862721721, 2and b
band d
candd
aandc

affead & | FI9-9 SR F1F S Td1 i 999 F:ed ¢ 2

a. 9H A=Y

b. SHHEEAT #1 fATae 948

c. Grar o=
d. F2 FIS &A1 Fit Iurerta

a#diThb
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b 3T d
92862721722,

c dT d

a3 c

Match the following and choose the correct answer from the options given below :

a. |Physical Boundary i. [India-Pakistan Boundary

b. |[Superimposed Boundary ii. |Between Alaska and Canada
c. |[Subsequent Boundary iii. |Mountains, rivers, etc

d. |Antecedent Boundary iv. [Truce or ceasefire line

(a-ii), (b-i), (c-iv), (d-iii)

(a-i), (b-iv), (c-ii), (d-i)

(a-ii), (b-i), (c-ii), (d-iv)
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(a-iii), (b-iv), (c-i), (d-ii)
92862721728.

Tt &1 Her e AT Jr= 70 10 f&FFedt § 7 Jg1 39 0

a. |drfaes #H=r I |gTea-ariEET T

b. |Fermifaa # T i, |[ATERT AT FHATST & A A ST
c. |T¥adt HHT iii. [TAq, =T, =

d. [TE=et JHT iv. |15 B |t AT 15 {a @

(a-ii), (b-i), (c-iv), (d-iii)

(a-i), (b-iv), (c-ii), (d-iii)

(a-ii), (b-i), (c-iii), (d-iv)

(a-iii), (b-iv), (c-i), (d-ii)
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Question Number : 93 Question Id : 9286275620 Question Type : MCQ Option Shuffling : Yes Is Question
Correct Marks : 1 Wrong Marks : 0

Which of the following does nof come under Occidental Cultural Realm ?
Mediterranean European

Latin American
Australian

West Asian

et & & 19 9r4ard (Occidental) TiEhias & % dq9d gt a1d

AN T2

wfes dHTERT
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"

92862721731.

qfgrHt ufraTes

The Pygmies are inhabitants of

Mediterranean Africa
Southern Africa

Tropical Africa

Madagascar

ForTeft wrat 3 Foramelt 2 2

www.FirstRanker.com
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THETANTNT AT

92862721733.

Freroft erhirnT

IOUTER (e e T AThEhT

b
gl

R == (8

The maximum sound level that a human being can stand without discomfort is

120 decibels

80 decibels

100 decibels

110 decibels
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Correct Marks : 1 Wrong Marks : 0

= B o Aeedt § g9 7 oo e #v sfeewaw w97 2w g e A
T o aiaeT & 987 FT Jar g ?

120 ===

80 =g

100 ===

110 ===

Which of the following health hazard is not related to air pollution ?

Eye irritation

Chest congestion
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Liver problem
92862721743.

Lung diseases

Ao & & F1-A7 T GO T T900 T J=149d g g ?
Aar § ST
#17 (Chest) # ST
A =l THEAT

TS F T
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Match the following and choose the correct answer from the options given below :

a. |Bhabar i. [Pebble studded porous zone along foothills

b. [Khadar ii. |Younger alluvium

c. |[Bangar iii. |[Zone of excessive dampness where streams re-emerge
d. |Tarai iv. |Older alluvium

(a-i), (b-ii), (cAiii), (d-iv)

(a-ii), (b-i), (c-ii), (d-iv)

(a-i), (b-ii), (c-ii), (d-iv)

(a-i), (b-ii), (c-iv), (d-iii)
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et %1 fam fiferm @ §= =70 Tw @ et § & 88t 39 ghT

a.|qTaT i. [TAZET F TqTT T T A

b.[@TET ii. |TE0T STATE

c. | TE (Bangar) iii. [A<ITa= THT =T &3 St G110 I7: TTgd gl
d.|aTTe iv. [T (Older) S1®

(a-i), (b-ii), (c-iii), (d-iv)

(a-ii), (b-i), (c-iii), (d-iv)

(a-i), (b-iii), (c-ii), (d-iv)

(a-i), (b-ii), (c-iv), (d-iii)

Which of the following is the correct arrangement of States and UTs in the order of thej

l : R ” A
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Options :
Delhi - Chandigarh — Bihar — West Bengal

92862721749.
Delhi — Bihar — Chandigarh — West Bengal

Delhi — Bihar — West Bengal — Chandigarh

Delhi — West Bengal — Bihar — Chandigarh

2011 T STRTMET AFST F FFA AT § | HIT-37 HH AT AT
ITTTET T=9TT T Hed gl SAEeAT Hecd § Tl % g ?

et — FSE — g — atsrs e
Bl -ﬁm—%i@ﬁﬂ_a—tr%'craﬁu@

et - fagre — afarw e - SEhe
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fEoett — oform s - fEw - =SS

92862721752.

Which of the following groups of States and UTs is arranged in correct order of their
increasing sex ratio as per 2011 census ?

Daman and Diu — Andaman and Nicobar Islands — Haryana — Sikkim
Haryana — Daman and Diu - Andaman and Nicobar Islands — Sikkim
Sikkim — Daman and Diu — Haryana — Andaman and Nicobar Islands

Sikkim — Andaman and Nicobar Islands — Daman and Diu — Haryana

2011 T STAIOMAT & FqETe [oteriad § T HI9-97 T AT Feg g1
T F TGN FT I T2 g0 ORara F 8 #9 § A1 T g ?
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T 3T T — S=A AR FE Saagg - gRam - i

92862721753.

AT — THA T T — FSHE &7 Awra goagg - AfEa

T — =99 i Fi7 — g — sam i AaEe sz

et — s die ArETe SToeHg — S99 S 919 — g

Teak and Sal are the important trees of
Tropical dry deciduous
Tropical moist deciduous
Moist, Tropical evergreen

Wet Temperate
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Question Number : 100 Question Id : 9286275627 Question Type : MCQ Option Shuffling : Yes Is Questior
Correct Marks : 1 Wrong Marks : 0

AT (Teak) 3 aTer e Tg=aay a2 & 2
SO Ea & T [ TOTe T

TH, IUTH e AITAZT

a3 FHsfraToT
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